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QUESTION 1

Which technology enables the use of nonvolatile persistent memory to tier data on a client? 

A. FlexPool 

B. MAX Data 

C. FlexCache 

D. Flash Cache 

Correct Answer: D 

 

QUESTION 2

You want to use NetApp Cloud Volumes ONTAP as a data replication target for your primary ONTAP storage systems. 

In this scenario, what are three cost-saving business benefits? (Choose three.) 

A. the ability to run without purchasing a license as long as your production workload is less than 2 TB 

B. the ability to shut down the virtual instance to save on compute costs 

C. the ability to provision added capacity when you need it 

D. the ability to migrate clusters between public cloud providers to take advantage of price differences 

E. the ability to tier inactive data to less costly storage 

Correct Answer: CDE 

 

QUESTION 3

Which three NetApp data mobility products are used to migrate data into the cloud? (Choose three.) 

A. robocopy 

B. rsync 

C. XCP 

D. Cloud Sync 

E. SnapMirror 

Correct Answer: CDE 

 

QUESTION 4
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You are currently performing all the important administrator and maintenance tasks for your system, and need to
delegate work to the staff so that you can attend to other issues. 

Which approach will you take to ensure that your systems are safe? 

A. Provide all users with power user access. 

B. Employ mandatory integrity control. 

C. Provide all users with administrator access. 

D. Employ the principle of least privilege. 

Correct Answer: C 

 

QUESTION 5

What would be used with Cloud Volumes Service to create Snapshot copies, catalog backups, and perform file-level
restores? 

A. Cloud Backup Service 

B. Azure NetApp Files 

C. Cloud Volumes ONTAP 

D. Cloud Sync 

Correct Answer: A 

 

QUESTION 6

Which two technologies enable business continuity during a site failure? (Choose two.) 

A. StorageGRID 

B. Snapshot copies 

C. MetroCluster 

D. SnapLock 

Correct Answer: BC 

 

QUESTION 7

Which management software allows you to provision Dynamic Disk Pools? 

A. Element 

B. SANtricity 
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C. StorageGRID 

D. ONTAP 

Correct Answer: B 

 

QUESTION 8

What are two benefits of managing persistent storage volumes in containers using NetApp Trident? (Choose two.) 

A. Trident provides a unified interface to NetApp storage. 

B. Trident provides automated deployment of Helm charts to Kubernetes. 

C. Trident provides backup/restore capabilities. 

D. Trident dynamically fulfills storage requests. 

Correct Answer: AD 

 

QUESTION 9

Your employer asks you to develop an off-site data replication strategy that maintains ONTAP data efficiencies for the
home directory data. 

Which two solutions satisfy this requirement? (Choose two.) 

A. NetApp Private Storage 

B. MAX Data 

C. Cloud Volumes Service 

D. Cloud Volumes ONTAP 

Correct Answer: AD 

 

QUESTION 10

Which two StorageGRID features provide data durability for large unstructured datasets? (Choose two.) 

A. erasure coding 

B. storage tiering 

C. object replication 

D. S3 API compatibility 

Correct Answer: BC 
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